
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.456 × ________ = 54.56 5.243 × ________ = 52.43

9.981 × ________ = 9981 8.427 × ________ = 84.27

5.732 × ________ = 573.2 6.998 × ________ = 69.98

2.079 × ________ = 20.79 3.379 × ________ = 3379

1.452 × ________ = 1452 9.306 × ________ = 93.06

10.951 × ________ = 1095.1 6.817 × ________ = 68.17

7.732 × ________ = 7732 4.789 × ________ = 478.9

8.778 × ________ = 87.78 10.891 × ________ = 108.91

3.815 × ________ = 381.5 3.739 × ________ = 373.9

10.926 × ________ = 1092.6 7.639 × ________ = 763.9
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